Name: _______________________________________



Hour: ___________
McDonald’s Finds Another Winning Blend
Identifying Demand Shifters
Based on information from the article, answer the following questions about demand and potential “shifters”.

1. Identify a potential reason referred to in the article for the increase in demand for McDonald’s fruit-flavored smoothies.  (2 points)  

_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

2. How did one of McDonald’s competitors, Jamba Juice, respond to their growing demand?  What demand shifter would you identify this response as?  (2 points)
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

3. By offering 30 customizable flavors, Jamba Juice is hoping to cater to which demand shifter to increase the demand for their products?  (1 point)
_________________________________________________________________________________

4. The statement, “The success of new smoothies could be an indication that consumers are feeling more confident about making small splurges,” refers to America’s willingness to spend more money.  Which demand shifter does this refer to?  (1 point)
_________________________________________________________________________________

5. In order to grab a larger share of the market demand for their fruit smoothies, how can Jamba Juice respond to McDonald’s increase in sales?  Use a demand shifter to describe a potential reaction.  

(4 points)
_____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

